Colorimetric transformation i=0
X*=x¥ =w§ with x = o*, I*, v¥; w} = 0,00

5 steps
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Colorimetric transformation i=1
X*=x3 =wj with x = o*, I*, v¥; wy = 0,06

5 steps
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Colorimetric transformation i=2
X*=x3 =wj with x = o*, I*, v¥; wi =0,11]

5 steps
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Colorimetric transformation i=3
X*=x% =wj with x = o*, I*, v¥; w} =0,18

5 steps
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Colorimetric transformation i=4
XF=x3 =wj with x = o*, I*, v¥; wi = 0,27
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Colorimetric transformation i=5
X*=xE =wg with x = o*, I*, v¥; w§ = 0,38
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Colorimetric transformation i=6
XF=xg =wg with x = o*, I*, v¥; w = 0,52
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Colorimetric transformation i=7
X*=x3 =wz with x = o*, I*, v¥; wi =0,70

L*

5 steps

X

C*

100
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